




If I am the VP of Gymkhana, then I am well-known in IIT.
I am the VP of Gymkhana. Therefore, I am well-known in IIT.

If Devika is the VP of Gymkhana, then Devika is well-known in IIT.
Devika is the VP of Gymkhana. Therefore, Devika is well-known in IIT.

If Neha is the VP of Gymkhana, then Neha is well-known in IIT.
Neha is NOT the VP of Gymkhana. Therefore, Neha is NOT well-known in IIT.





If Devika is elected as the VP of Gymkhana, then Akshay is chosen as a G-Sec AND
Azhar is chosen as a Treasurer. Azhar is chosen as a Treasurer.
Therefore, Devika is elected as VP of Gymkhana.

If Devika is elected as the VP of Gymkhana, then Akshay is chosen as a G-Sec AND
Azhar is chosen as a Treasurer. Akshay is NOT chosen as a G-Sec.
Therefore, Devika is NOT elected as VP of Gymkhana.



If Ninaad is elected as the VP, then Ayushi is chosen as a G-Sec OR
Devang is chosen as a Treasurer. Ayushi is NOT chosen as a G-Sec.
Therefore, if Ninaad is elected as VP then Devang is chosen as a Treasurer.

If Ninaad is elected as the VP, then EITHER Ayushi is chosen as a G-Sec OR
Devang is chosen as a Treasurer, but not both. Ayushi is NOT chosen as a G-Sec.
Therefore, if Ninaad is elected as VP then Devang is chosen as a Treasurer.



No contractors are dependable. Some engineers are contractors.
Therefore, some engineers are not dependable.

Wherever Ankush goes, so does the pet dog. Ankush goes to school.
So, the dog goes to school.

All actresses are graceful. Anushka is a dancer. Anushka is an actress.
Therefore, some dancers are graceful.

Every passenger either travels in first class or second class. Each passenger is in
second class if and only if he or she is not wealthy. Some passengers are wealthy.
Not all passengers are wealthy. Therefore, some passengers travel in second class.


